# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 595 : 6 = 2) 973: 6 =
1.
2.
3.
4,
5.
6.
3 743 : 7 = 4 135 : 3 =
5 274 : 3 = 6) 144 : 2 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 595 : 6 =099r1 2 973: 6 =162r1
1. POri1
-0 -6
59 37
2. 162r1
-5 4 -3 6
o[> 13 . 106r1
.54 -1/2
1 1 4. 45
5. O1r1
6 72
3 743 : 7 =106r1 49 135 : 3 =045
-7 -0
04 3
-0 -11/2
43 15
-4 2 -11/5
1 0
S 274 : 3 =091r1 6) 144 2 =072
_0 -
27 4
.27 -14
04 04
-3 -4
1 0
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